3. BILL OF QUANTITY

		NEV	W BOYS HOSTEL		B & C MA SED BOQ		MPUS K	ARACH	I	
S. #	Furniture	Code	Description	Size	Ground Floor	First Floor	Second Floor	Total	Unit Price	Amount
1	Dorm Bed	B-1	FRAME: Front made of 50mmMDF with high pressure teak lamination Oak wood lipping. Back: made of 50mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oak wood lipping(with storage space of 3'x1'x3'-6"). Side: Made of 20mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oak wood lipping. MATTRESS SUPPORTS: 4mm MDS sheet resting on partel Ribs 3"x3/4" and partel frame support Mattress. MATTRESS: 6" from Master or Equivalent with 10 years warrantee. All the above items must be provided as per Sample		37	72	74	183		3925350

MSTITUTE OF BUSINESS ADMINISTRATION

LBA Karacy

LBA Karacy

LBA Karacy

DR. S

CHAIRPERSON

CENTRAL PURCHASE COMMITTEE

INSTITUTE OF BUSINESS ADMINISTRATION

KARACHI

DR. S. M. Fui Sad drecolot

DR.S. M Fuisal ilrador Assistant Profesior IBA, Harachi CENTRAL PURCHASE COMMITTEE

Havis Couresti

HEI

Stamp & Signature

Page 6 of 30

2	Dorm Bed Side	ST-1	STRUCTURE: Made of 18mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oalk wood lipping. DRAWERS: Made of 18mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oak wood lipping with S.S knob and premium quality channel strips. All the above items must be provided as per Sample	L1'- 6"XW1'- 0"H2'-0"	37	72	74	183	3125	; 571875
---	------------------	------	---	-----------------------------	----	----	----	-----	------	-------------

MEMBER CENTRAL PURCHASE COMMITTEE INSTITUTE OF BUSINESS ADMINISTRATION

Syed Albar Hussain idezmi Finance IBA, Ilarachi

CHAIRPERSON

CHAIRPERSON
CENTRAL PURCHASE COMMITTEE
INSTITUTE OF BUSINESS ADMINISTRATION
KARACHI
DR.S. M. Faisal Symplect
Assistant Professor
IBA, Karachi

MEMBER (EXTERNAL) CENTRAL PURCHASE COMMITTEE INSTITUTE OF BUSINESS ADMINISTRATION HAVIS QUIES LI PORA Aduisor 176



			WORK TOP:							
3	Dorm Study Desk	SD-1	Made of 25mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oak wood lipping. STRUCTURE: Made of 18mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oalk wood lipping. DRAWERS: Fixed under work top made of 18mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oalk wood lipping. DRAWERS: Fixed under work top made of 18mm MDF with high pressure teak laminate from Alnoor or Equivalent with Oak wood lipping complete with S.S knob and premium quality channel strips. BOOK SHELF: Made of 18mm	Table size L 3'- 0"xW 2'-0"XH 2'-6" Shelf: L 3'- 0"XW 0'-9"H 3'-6"	37	72	74	183	9100	166 5300
8	S S		MDF with high pressure teak laminate from Alnoor or Equivalent with Oalk wood lipping including batten T5 14 light fixture.		2					
4	Lounge Centre Table		STRUCTURE: Made of MDFof 50mm thick pressed with high pressure walunt laminate with 4mm thick Ash wood edge trim.	L 5'- 0"XW 2'-6" H 1'-6"	2	2	2	6	16900	101400

NSTITUTE OF BUSINESS ADMINISTRATION
FINANCE HUSSOM KASCH
FINANCE HUSSOM KOSMINISTRATION
FINANCE LE

134, Kerra Cui

CHAIRPERSON

CENTRAL PURCHASE COMMITTEE

INSTITUTE OF BUSINESS ADMINISTRATION

KARACHI

ACAISTAM Professor

ACAISTAM Professor

ACAISTAM Professor

ACAISTAM

MEMBER (EXTERNAL)

amp & Signature

Page 8 of 30

CENTRAL PURCHASE COMMITTEE

Haris Cureshi PPRA Admisor 1+65

5	Lounge Side Table		STRUCTURE: Made of MDFof 50mm thick pressed with high pressure walunt laminate with 4mm thick Ash wood edge trim.	L 1'- 6"XW 1'-6" H 1'-6"	8	8	8	24	13900	333600
6	Single Seater	SO-1	Provide and supply fully upholstered sofa including best quality inner wood frame master molty foam or equivalent and fabric from project fabric series and MS 16swg powder coated legs	L 2'- 6"XW 2'-6" H 1'-6"	4	4	4	12	10500	126000
7	Double Seater	SO-2	Provide and supply fully upholstered sofa including best quality inner wood frame master molty foam or equivalent and fabric from project fabric series and MS 16swg powder coated legs	L5'- 0"XW 2'-6" H 1'-6"	8	8	8	24	20500	492000
8	Dorm Study Chair		Provide and Supply study chair of Master Genisis ECO LBC with A1 Fabric.		37	72	74	185	11800	2183000

CHAIRPERSON
CENTRAL PURCHASE COMMITTEE
INSTITUTE OF BUSINESS ADMINISTRATION

DR. S. M. Faisal Tradect
Assistant Professor
IBA I Cara Chi

MEMBER PEXTERNAL)

CENTRAL PURCHASE COMMITTEE INSTITUTE OF BUSINESS ADMINISTRATION

HOYIS COURSELY PPRIA Admisor 1+65

tamp & Signature

Page 9 of 30

MEMBER
CENTRAL PURCHASE COMMITTEE
INSTITUTE OF BUSINESS ADMINISTRATION
KARACHI
Syed Akbax Hussain Kazmi
Finance
IBA, Karachi

12	Visitor Chair		Fabric Provide and Supply chair of Master Genisis ECO VC with A1 Fabric		0	4	0	4 Total		38800
11	Admin Chair		with A1 Fabric Provide and Supply chair of Master Aura ECO HBC with A1		0	1	0	1	14000	14000
10	Work Station Chair		Provide and Supply chair of Master Genisis ECO LBC		4	4	4	12	11800	141600
9	Admin Desk	AD- 01	TOP: Top made of 25mm MDF press with high pressure walnut laminate from Alnoor or Equivalent with ashwood sdge lipping. STRUCTURE Side made of 25mm MDF with high pressure valnute laminate form Alnoor or Equivalent with Ashwood edge .Courtesy panel 18mm thickMDF press with pressure laminate with Ashwood edging. Complete with cable management.	L5'- 0"XW1'- 8"X H2'-6"	0	2	0	2	28500	\$7000

Total Amount Rupees (in words) One Hondrod Twentre tar Hundred and Twelve Only CENTRAL PURCHASE COMMITTEE INSTITUTE OF BUSINESS ADMINISTRATION
Syel Akbay Hossam Kazami C Stamp & Signature

IBA, Karachi

CHAIRPERSON
CENTRAL PURCHASE COMMITTEE
INSTITUTE OF BUSINESS ADMINISTRATION

KARACHI
DR. S. M. Faisal Iradoct
HELISTANT Professor 134, Karachi

NSTITUTE OF BUSINESS ADMINISTRATION